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1. Introduction
In RAN4 #77 meeting, the conformance test has been discussed [2] and a way forward [1] was agreed. 
· Applicability rule with respect to Bandwidth 

· A test for a specific channel bandwidth is only applicable if the BS supports it 

· For a BS supporting multiple channel bandwidths and not supporting carrier aggregation only the tests for the lowest and the highest channel bandwidths supported by the BS are applicable

· FFS for BS supporting carrier aggregation

· Duplex mode: 

· The synchronous network tests should be applicable for both FDD and TDD 

· If it is agreed to introduce BS IRC tests for asynchronous network as well, these tests should be applicable for FDD only 

· FFS applicability rule with respect to BS classes 

· Option 1: Case #7, 9, 11 (corresponding to homogeneous scenario) are applicable for wide area BS and medium range BS, and case #2, 4, 6 (corresponding to heterogeneous scenario) are applicable for all the 4 classes of BSs 

· Other possible options

· Test tolerance

· 0.6dB

· Others possible options 

In this contribution, we provide our views on the conformance test for BS capable of MMSE-IRC receiver. 
2. Discussion
Agreements on some aspects of conformance tests, such as duplex mode, have been reached, but some of them are still need to be decided. 

Channel bandwidth

For BS not supporting carrier aggregation the applicability rule of performance requirements for BS MMSE-IRC receiver for PUSCH is the same as that of performance requirements for legacy PUSCH performance requirements.

· A test for a specific channel bandwidth is only applicable if the BS supports it 

· For a BS supporting multiple channel bandwidths and not supporting carrier aggregation only the tests for the lowest and the highest channel bandwidths supported by the BS are applicable

For BS supporting carrier aggregation, how the performance requirements for BS MMSE-IRC receiver are applicable is not decided yet.  If BS supporting carrier aggregation, not only PCC but also SCC(s) the MMSE-IRC receiver should be applied to. The FRC used for performance requirements are full PRB allocation. Compared to legacy PUSCH performance requirements, the difference of performance requirements for MMSE-IRC is only the detector used for demodulation. In this aspect we think that the principle of applicability of conformance test for performance requirements of MMSE-IRC receiver is also the same as legacy PUSCH performance requirements. Therefore for a BS supporting UL carrier aggregation, only the CC combination with largest aggregated bandwidth is used for the test. If there is more than one combination the CC combination with the largest number of component carriers is used for the test.
Proposal 1: For a BS supporting UL carrier aggregation, only the CC combination with largest aggregated bandwidth is used for the test. If there is more than one combination the CC combination with the largest number of component carriers is used for the test.
BS classes

There are two set of test cases for BS IRC receiver. One set is based on DIP values derived from Hetero Networks and another set is base on DIP values derived from Homo Networks. In general performance requirements derived from DIP values from Hetero Networks can be used for Homo Networks and vice versa. However it is not necessary to have two sets of tests for all the BS classes. Option 1 that Case #7, 9, 11 (corresponding to homogeneous scenario) are applicable for wide area BS and medium range BS, and case #2, 4, 6 (corresponding to heterogeneous scenario) are applicable for all the 4 classes of BSs seems to be a good solution to reduce redundant tests.
Proposal 2: Option 1 is used for applicability of BS IRC performance requirements for BS classes.
Test tolerance
There seems to be no reason to change the test tolerance defined in TS36.141, so we suggest reusing 0.6dB test tolerance.
Proposal 3: Test tolerance: 0.6dB.
3. Conclusion
In this contribution, we provide our views on the conformance test for BS capable of MMSE-IRC receiver. Based on above analysis following proposals are given. 

Proposal 1: For a BS supporting UL carrier aggregation, only the CC combination with largest aggregated bandwidth is used for the test. If there is more than one combination the CC combination with the largest number of component carriers is used for the test.
Proposal 2: Option 1 is used for applicability of BS IRC performance requirements for BS classes.
Proposal 3: Test tolerance: 0.6dB.
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